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(x +A)? = x> + Bx + T oA A, BO goR M5 AL BT

I1=2mH?

1 1 1 1
®A—;1,1B—;11 @A_%’B_El
@A——%,Bzél @A:Z9B:_Z

A=--,B=-=
Da=-1 8=

1
(x+A)2:x2+2Ax+A2:x2—|—Bx—|—E
1 1 1 1 1
A= —OolBE2 A=-"Ud Y B=_A=-"Yd T B=—=
6 ! 12 B=3 T 2
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2(2x +1)% — (x + 4)(x - 4) 5 7HFs] 5hA?

@ 15x% + 16x + 20
® 7x*+8x-14

® Tx% +4x+17

@ 15x% +16x - 12
@7362 +8x+ 18

2(4x% + 4x + 1) — (x% - 16)
= (8x% +8x+2 - x* 4 16)
=T7x* +8x+18




(x—4-y)(x-y)E At A7

@ x?—y* —dx+4dy-xy @ x®+y?—dx+4y+xy
@x2+y2—4x+4y—2xy @ x%—y? —4x—4y + 2xy

® x?+y? +4x+ 4y - 3xy

x-y=AR Ags5td
(FolR A)=(A-4)-A
A2 — 44




4. (- D(r-2(r+2(x+3) L AHG 0, 229 A%E ot

® 3 @ 5 ® 7 @-5 @7

B

(x=1D)(x=2)(x+2)(x+ 3)

={(x-D(x+2)H(x-2)(x + 3)}

=(x*+x-2)(x* + x-6)

12 O] AlFE FofoF stRE, —6x2 + x2 - 2x% = —7x* oA x2 9]
A= 70l
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~9a% + 6a%b 9] Q1%:7} obd 79

® a*b @ab2

@ —3ab ® 3a-2

-9a3b + 6a*b = —3a*b(3a - 2)
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@ 9x + 49y ® 3x+ 49y
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6x2—17x—A 7l x-3 & el2 7HE of, ot
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> He. 6x+1
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= ?l—l"’a—

Fstelet.
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TFE A4 ax+ b2} o1

a==6
b—3a=-17, b=1
whabA THE Q1 6x + 1

(ax+b)(x=3) =ax*+ (b-3a)x—3b
= 6x — 17x - A°] A
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6x2—8x+m
D 2x-1 @ 2x+1 @3x—1
@ 3x+1 ® 4x-1

B

6x2 —8x +m = (2x — 2)(3x + k)
= 6x2 + (2k — 6)x — 2k
%—6=-8k=-1, 2=m=2 ot
6x2 —8x+2=2(3x-1)(2x-2)
webA oh2 @ Q14 3x— 1 olek.
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@) x-y-1(x-y+6)
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x—y=r1r & o,

t(t+5) —6=1>+5t-6
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=(x-y-1)(x-y+6)
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13. (x+a)(x-3)=x>+bx+11 € W, a+ b2 327

31 29 28
D-5 @-0 60-2 @-F 09

B

(x+a)(x-3)=x*+(a-3)-3a=x>+bx+ 11
a-3=b,-3a=11

11 2
wha}A a=-= ,b=—§0 OIEE,a+b=_% o},
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A FAE 0|85t (x—a)(3x +5) E ANt A-S o], x o] A7t
17 o]t}. o|uf) A= a o] Fh& FShoiet.

>

> &Y. a=-4

(x—a)(3x+5) = 3x% + (5 - 3a)x - 5a
x o] A7 17 o] ER

5—3a=17

—3a =12
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15. th ZAAZE ABCD ©|A oAGHE , oEFCD += AALZg o1,
BC=a,DC=>b< W, aGBFH 2] Wol=2(d, b<a<2b)

A E D
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~ B“ ~ Al
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@D a®-2p? @ a® - 4b?
@—a2 + 3ab — 2b> @ —a® + 6ab - 3b?

® —a? + 6ab - 2b?

B )
BF 9] Zo|& a-b o]t} oAGHE 7} gAIZHgo| B & EH ¢
o= q - b o]t
w2k HE 9] ZolE b - (a-b) = 2b—a ©|t}

Aot 120 YOl (a-b)(-a + 2b) = —a? + 3ab - 2b°
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>
> HE x4+ 3y

x2 = 2xy — 15y = (x — 5y) (x + 3y)
x?2 —9y2 = (x+ 3y) (x — 3y)




17. T3 x2 —ax+2, 2x2 -Tx+b 9

LA Q450 §e T5HA? (o a, b

D 2x-3 @ x-5
@)3x -4 ® x-2

2 —ax+2=(x-2)(x+k)
=x2 + (k- 2)x -2k
k—2=-a,2%k=2
- k=-1,a=3
2x2 = Tx+b=(x-2)(2x +m)
=2x2+ (m—-4)x-2m
m—4=-T7,b=-2m
- m=-3,b=6
¥ -3x+2=(x-2)(x-1)
2x2—Tx+6=(2x-3)(x-2) °|BE=
volA] Qg ge
(x=1) + (2x - 3) = 3x — 4 o]T}.
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Fatolet

2 S 4TTS EHEL B Bx+3)(x-7) 22 QAIFE

A2 3x% — 22x + 24 A A4t +24 E A B,
22 322 — 18x — 21 oA x O] AlF= 18 2 9| H ot}
wHehA] 3x2 — 18x + 24 = 3(x — 2)(x — 4)
La=3,b=2,c=4
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He] dolg Fatefet.
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> Heh x+1

FTHolE A+ 20+ 1
2 F2x+1=(x+1)2
webd g M) ol (x4 1)




20. A|29] Zo]7t 2a+40]al Hol7t 6a +18a+ 12 AAHY
Zdol=?
D 10a + 12 @ma +14 ® 12a+12
@ 12a+ 14 ® 14a+ 16
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=49

6a® + 18a + 12 = (2a +4)(3a + 3) o] B =
S8 ZolE 2x (2a+ 4+ 3a+ 3) = 10a + 14 0]t}




21. (x-3)(x+1)-(x-3)2+6(x+1)* = AFEHSHAH?

® (3x+2)(x+2) @)2(3x-1)(x +3)
® 2(3x+1)(x-3) @ 4(2x—2)(x+3)
® -2(3x-2)(x-3)
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x+1=A, x—-3=B=Z X3s5}H

6(x+1)* + (x=3)(x+1) - (x = 3)?

=6A% +AB-B?> = (2A + B)(3A-B)
={2x+1)+(x-3)} {3(x+1) - (x-3)}
=Bx-1)(2x+6) =2(3x—1)(x+ 3)
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o x(x+ D) (x+ 2)(x + 3) + 1 & A5E5fotA?

@ (x> +3x+6)2 @ (x2+3x-1)2 ® (x> -3x+3)2
@ (x® - 5x+3)? @(x2+3x+1)2

B

(2 +32)(x? + 3x +2) + 1

x*+3x=A 2 5tH

AA+2)+1 =A242A+1=(A+1)?
= (x® +3x+1)2
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2 —dx -9 +4 L A5 B st AFH A5ES) T4

=2t (P a>0,b>0)

@ acx® + (ad + be)x + bd = (ax + b)(cx + d)
© *+(a+b)x+ab= (x+a)(x+b)

© a*-2ab+b* = (a-b)*

® a>-b?>=(a+b)(a-Db)

@ a* + 2ab+ b* = (a + b)?

> £
> g
> &HE ©
> e @

B

x2—4x—9y2+4

= (x% —4x +4) — 9y?
=(x-2)2-(3y)2-+-® a® - 2ab + b* = (a - b)?
=(x-2+3)(x-2-3)---@da®-b* = (a+b)(a-b)
=(x+3y-2)(x—3y—2)
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PPy +x? +y° = (1 +9)° - 2xy(x +y)
(x+2)(y +2) =20, xy =6 °l|A
6+2(x+y)+4=200°]E22

L x+y=25

x4y -2xy(x+y) =52 -2x6x5 =65
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Vi=a-1°]31, -1<a<3¥9 M, Vx+4da+ Vx—4a+82 7t
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B

Vi=a-19 FHE AFA x = (a-1)2
Va2 +2a+1+ Va2 —6a+9

= Via+1)’+ /(a-3)?
=la+ 1]+ |a - 3|

=a+1-a+3=14
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28. o, b, o= (a=b)(a=c)F & W, [a, b, |- [, a, ] T AW,
(xa+yb+zc)(pa+gb+re) oItk Ol W, x+y+z+p+q+r 9
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@ -1 @ 3 (@)0 @ 2 © -2
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(a=b)la-c)—(b—a)(b-rc)
=(a=-b)(a=c)+ (a-b)(b-c)
=(a=-b){(a-c)+(b-c)}
=(a-b)(a+b-2c)
SLx+ytz+ptqgtr
=14+(-1)4+0+1+1+(-2)=0
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@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)2+a)

@ -y +2x+2y=(x-y)(x—y+2)
@)+ 2 +x+1= (2 +1)(x+1)
@xty-1)-20-1) = (x-2)(y-1)
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S 1o A gABEF ¢} oFHGD 7} ZA
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AtZYY ABFE, EGHD & AAHZtgo|E2
HE=b-(a-b)=2b-a,EC=a-b
g2 A 9] Wole (26 - a)(a - b) ©ltt.
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32. &2+2 =1, 2+d?> =28, ac+bd =299, |bc —ad| & &
“Fotofet,

> E:

> ™Heh: 2

B ~

(a®>+b%)(c?+d?) =8 0|2

a’c? + a*d® + b*c? + b?d® =8

(bc — ad)? = b*c? + a®d? - 2abcd
= (8 —a®c® - b*d?) - 2abcd
=8 — (ac + bd)*
=4

S.obc—ad = 2

S lbe —ad| = 2
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(x+ B)* = x* + 2Bx + B?
=x>-10x+A

2B = -10 .. B=-5
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5x2 —ax—3 = (x+b) (bx+c) 2 A2l 2

TFotoiet. (B, a, b, c = A7)
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o

vV VvV VvV v v Vv
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YD -2
HE: 2
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B

g At
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5b+c=-a - @
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L a==2, +14




_a2—1

fla) = 5= L m. f(10) x f(11) X F(12) x -+ x £(99) €] FkL7
1 9 10 10

20
© 59

2
_a —1:a—1‘a—i—1O

= =2 o eme
F(10) x f(11) x f(12) x - -- X f(99)
9 11 10 12 11 13 98 100

101011 11 12 127 99 99
9 100

~ 107 99

10

11




